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both naproxen and ibuprofen should be avoided during 
pregnancy, especially in the third trimester, unless the 
bene!ts outweigh the potential risks and under the 
guidance of a healthcare professional. 

Patent Ductus Arteriosus (PDA) is a 
congenital heart defect that occurs 
when a blood vessel called the 
ductus arteriosus, which is present 
in fetuses and normally closes 
shortly after birth, remains open 

If a drug is metabolized via the CYP2C9 pathway, it can potentially interact 
with other medications that also use this pathway, such as warfarin. 



1)All of the following statements about 
cyclooxygenase1 (cox1) are correct except:  

a. Is constitutively expressed on GIT, kidney and platelets . 
b. It is responsible for the PGE2 synthesis which is important in 

mucus production in the stomach. 
c. It is responsible for PGE2&PGl2 synthesis that maintain 

renal blood flow. 
d. COX-1 is only found in inflammatory cells and tissues. 

2)NSAIDs should be avoided in which group(s) of 
patients? 

a. Kidney disease. 
b. Myocardial infarction. 
c. Irritable bowel syndrome. 
d. All of the above. 

3)Which of the following NSAIDs is a selective COX-2 
inhibitor? 

a. Indomethacin  
b. Meloxicam  
c. Celocoxib 
d. Mefenamic acid 

 

 

Note: Meloxicam is slightly COX-2 inhibitor with less 
side effects. 



4)Which of the following statements about NSAIDs is 
false? 

a. NSAIDs are not recommended during pregnancy. 
b. NSAIDs increase renal blood flow. 
c. NSAIDs have hypocoagulability effect. 
d. Most NSAIDs are weak acids.  

5)Paracetamol is an NSAID with a comparatively low 
anti-inflammatory effect compared to other NSAIDs. 

a. True. 
b. False.  

6)Despite aspirin has been found to be effective in 
reducing CV risk in such patients, it has also been 
found that other drugs can significantly cause 
excessive bleeding if taken concomitantly. An example 
of the type of drug to be avoided in such patients is: 

a. Colchicine  
b. Ketorolac 
c. Prednisone  
d. Methotrexate    

7)NSAIDs such as aspirin can produce a type of allergic 
response in some patients. Which step, if blocked, is 
responsible for causing this drug allergy? 

a. Step1  
b. Step2  
c. Step3 
d. Step4 



8)Your ten year old son is running a fever of 101oF after 
developing a cold. To help him feel better you go to the 
local pharmacy to purchase an a fever-lowering 
medication. However, as a good parent you recall that 
there are warnings about the risk of drug-induced 
Reye's syndrome in children given the wrong type of 
NSAID. Which NSAID is associated with this potentially 
serious condition? 

a. Acetaminophen  
b. Celecoxib 
c. Montelukast 
d. Aspirin  

Note: Instead of aspirin, acetaminophen (paracetamol) is typically 
recommended for children with symptoms such as fever and pain. 

9) John is a 63 year old alcoholic with a 5 year history of ulcers. 
Recently when self-medicating for a back condition John consumed 5 
times the recommended daily dose of an over-the-counter pain 
reliever. Soon afterwards John developed a severe episode of nausea 
and vomiting. Twleve hours later his wife brings him to the local 
Emergency Department. After quizzing John about the identity of his 
analgesic, the ER physician draws blood samples for drug analysis 
and administers N-acetyl cysteine (Mucomyst) 140 mg/kg orally to 
prevent further toxicity. What analgesic did John most likely take to 
cause this problem? 

a. Acetaminophen  
b. Aspirin  
c. Ibuprofen  
d. Naproxen  



10)Mikey is a twleve year old boy who has suffered from asthma 
for the past five years. His asthma has become worse after a 
recent episode of pneumonia, and now requires some form of 
chronic, preventative therapy. His parents express concern about 
the harmful effects associated with the long-term use of inhaled 
corticosteroids, and ask about possible therapeutic alternatives. 
After further discussion, it is decided to have Mikey try taking an 
oral formulation of montelukast for three months until his next 
regular appointment. The mechanism of action of this drug 
involves: 

a. COX-1 inhibition  
b. COX-2 inhibition  
c. leukotriene receptor antagonism 
d. Lipoxygenase inhibition  

 

11)A premature newborn suffering from cyanosis is found to 
have a heart murmur upon auscultation. A 2D doppler 
echocardiogram indicates the presence of a patent ductus 
arteriosis. A drug is prescribed, and during the next followup 
exam, the murmur is gone. A new echocardiogram indicates a 
normal pattern of blood flow inside the heart. The drug 
prescribed was most likely: 

a. Montelukast 
b. Acetic Acid derivatives 
c. Propranolol 
d. Indomethacin  
e. B&D  



12)Highly selective COX-2 inhibitors are anti-inflammatory 
drugs with fewer GI side effects compared to traditional 
non-selective COX inhibitors, such as aspirin. What other 
effect do COX-2 inhibitors lack, in contrast to aspirin? 

a. Analgesics  
b. Anti-inflammatory  
c. Antipyretic  
d. Antiplatelet  
e. Lipoxygenase inhibition  

 
 

13)One of the following statements about NSAIDs is 
not true : 

a. Oxicam derivatives have long half lives which permit once 
daily administration. 

b. Diclofenac potassium is prompt release and has quicker 
onest where as diclofenac sodium is delayed release. 

c. Cause GIT bleeding and perforation  
d. Used to induce labor  or in abortion. 

 

14)What conditions can be treated by NSAIDs? 
a. Muscle injuries  
b. Arthritis  
c. Headache  
d. All of the above . 

 



15)Which one of the following statements is not true about 
NSAIDs ? 
a.Acetyl salicylic acid is an irreversible inhibitor of COX enzyme 
b. Salicylic acid reduces in vivo synthesis of prostaglandins 
c. Duration of action of aspirin is primarily related to .the 
pharmacokinetic clearance of the drug from the body 
d. Antiplatelet effect of low-dose aspirin is related to presystemic COX 
inhibition 

16)Among NSAIDS ,aspirin is unique because it : 
a. Irreversibly inhibits it’s target enzyme  
b. Prevent gouty arthritis  
c. Reduce fever  
d. Reduce risk of colon cancer  

17)A 16-year old boy comes in emergency with aspirin overdose 
,which are the most likely symptoms:  

a. Bone marrow suppression ,aplastic anemia  
b. Fever,hepatic failure. 
c. Hyperthermia,metabolic acidosis,coma  
d. Fulminant hepatic failure  

18)Indication for aspirin administration are the following, EXCEPT: 

a. Inflammatory conditions. 
b. Decreasing the incidence of transient ischemic attack, unstable 

angina, coronary artery thrombosis with myocardial infarction. 
c. Relieving severe visceral pain( myocardial infarction, cancer pain 

condition, renal or biliary colic ). 
d. Reducing elevated body temperature . 

 
 



19)Paracetamol has the following advantage(s) over 
NSAIDs  

a. It is the first choice analgesic for majority of osteoarthritis 
patients. 

b. It can be given safely to all age groups from infants to elderly  
c. It is contraindicated in pregnant or breastfeeding women. 
d. All of the above  

20)Which of the following NSAIDs is available in a 
delayed-release formulation? 

a. Ibuprofen 
b. Diclofenac sodium 
c. Meloxicam 
d. Piroxicam 

21)Which of the following NSAIDs is typically used for 
acute gouty arthritis? 

a.  Ibuprofen 
b. Naproxen 
c. Indomethacin 
d. Celecoxib 

 

 

 

 

 

 



 

 

 

22)A 65-year-old male presents to the emergency department with 
complaints of severe abdominal pain, vomiting, and black tarry stools. 
He has a history of osteoarthritis and has been taking over-the-
counter ibuprofen for the past month for pain relief. On physical 
examination, he appears pale and is in distress due to abdominal 
pain. Laboratory tests reveal a decreased hemoglobin level and 
evidence of gastrointestinal bleeding.Based on the clinical 
presentation, what is the most likely cause of the patient’s symptoms? 

a. Peptic ulcer disease 
b. Acute pancreatitis cholecystitis 
c. Diverticulitis 
d. Acute cholecystitis 

1)d 7)b 13)d 19)d 
2)d 8)d 14)d 20)b 
3)c 9)a 15)c 21)c 
4)b 10)d 16)a 22)a 
5)b 11)e 17)c  
6)b 12)d 18)c  

 







1) Allopurinol decreases the plasma concentration of: 
a. Hypoxanthine 
b. Xanthine 
c. Uric acid 
d. Purine bases 

2) Strong nonsteroidal anti-inflammatory drugs are 
more commonly used than colchicine in acute gout 
because: 

a. They are more effective. 
b. They are better tolerated. 
c. They act more rapidly. 
d. They have additional uricosuric action. 

3)Which of the following statements is correct about the 
mechanism of action of Probenecid 

a. Inhibition of cyclooxygenase enzymes 
b. Inhibition of uric acid reabsorption in the kidney 
c. Stimulation of insulin secretion 
d. Inhibition of monoamine oxidase enzymes 

4)All the following drugs will be useful in the treatment 
of an acute attack of gout; EXCEPT: 

a. Indomethacin 
b. Prednisone. 
c. Colchicine. 
d. Allopurinol. 

 



5) Colchicine is best described as it: 
a. Enhances uric acid excretion. 
b. Is an effective analgesic in osteoarthritis. 
c.  Is used for treatment and prevention of acute gouty 

arthritis. 
d.  All of the above 

6)To lower uric acid levels in blood and urine you 
should use:  

a. Colchicine 
b. Indomethacin 
c.  Allopurinol 
d. Corticosteroids 

7)Which of the following drugs is not used for acute 
gouty arthritis? 

a. Probenecid 
b. Steroids 
c. Ibuprofen 
d. Colchicine 

8)Which of the following drugs could be used to 
decrease rate of production of uric acid: 

a. Naproxen 
b. Aspirin 
c. Colchicine 
d. Febuksostat 

 



9)Which of the following agents binds to tubulin leading 
to depolymerization and disrupting neutrophils mobility: 

a. Colchicine 
b. Febuxostat 
c. Sarilumab 
d. Abatacept 

  

10)A 45-year-old man with a history of severe tophaceous 
gout presents to the rheumatology clinic for evaluation. 
Despite maximum doses of allopurinol and febuxostat, his 
serum uric acid levels remain elevated, and he continues 
to experience debilitating gout flares. His medical history is 
significant for glucose-6-phosphate dehydrogenase 
(G6PD) deficiency. The rheumatologist is considering 
Pegloticase therapy as a potential treatment option .Which 
of the following statements regarding the use of 
Pegloticase in this patient is most accurate? 

a. Pegloticase should be initiated cautiously with close 
monitoring of renal function. 

b. Pegloticase is contraindicated due to the risk of severe 
allergic reactions. 

c. Pegloticase should be avoided due to the risk of 
inducing hemolytic anemia in patients with G6PD 
deficiency. 

d. Pegloticase may be considered but requires concurrent 
administration of corticosteroids to prevent immune-
mediated adverse effects 



11)Which of the following is a symptom of gout? 
a. Purple or red skin 

b. Severe pain, warmth and swelling in joints 

c. Itching skin, peeling at the site of a gout attack 

d. All of these 

12)This is not a first-line option for pharmacological 
treatment of gout 

a. Corticosteroids 

b. Aspirin 

c. Oral colchicine 

d. NSAIDS 

13) ice packs can be effective adjuncts to the 
management of an acute gout attack. 

a. True  

b. False  

14)Which of the following best describes the mechanism 
of action of Acyclovir? 

a. Inhibition of viral DNA polymerase 
b. Stimulation of host immune response against the 

virus 
c. Disruption of viral protein synthesis 
d. Inhibition of viral RNA synthesis 

 



15)Which of the following statements about Ganciclovir 
is correct? 

a. The most common adverse effects of Ganciclovir include gastrointestinal 
disturbances and hepatotoxicity. 

b. Ganciclovir is well-tolerated, with few patients experiencing adverse 
effects, primarily limited to mild headaches. 

c. Ganciclovir is contraindicated in CMV infections and should only be 
used for other viral infections. 

d. Ganciclovir is the drug of choice for CMV infections,but one-third of 
patients may have to discontinue treatment due to adverse effects 

16) Which of the following statements regarding 
Foscarnet is correct? 

a. Foscarnet works by inhibiting viral protein synthesis. 
b. Foscarnet is well-absorbed orally, making it suitable for 

outpatient treatment. 
c. Resistance to Foscarnet primarily occurs due to mutations in 

viral surface proteins. 

d. Foscarnet must be administered intravenously due to poor oral 
absorption and is eliminated primarily via glomerular filtration  

1)c 5)c 9)a 13)a 

2)b 6)c 10)c 14)a 

3)b 7)a 11)d 15)d 

4)d 8)d 12)b 16)d 


